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Shortcut to multiplying powers with like hases: ADD EXPONENTS

Simpliy.
exl X° - X2
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Shortcut to raising powers to powers: -BNENTS

Exponent Rule 2: Powe

()
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ex9) (2&]2)3
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RAISE EVERYTHING INSIDE PARENTHESIS SEPARATELY TO THE
EXPONENT OUTSIDE. ALWAYS START WITH THE COEFFICIENT.
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NEGATIVE BASE
10 0DD POWER mp NEGATIVE ANSWER
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NEGATIVE BASE

TOEVEN POWER ™
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The ONLY way to _ 1. Negative sign must be INSIDE (- )

have a negative base " 2. exponent must be 0uTSIDE ( )




USING THE FIRST A
THREE EXPONENT Jﬁ _

Simplify.

an (3) - (5) () (V) ()
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